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Part (a)

A (0,0) B(1,4) C(5,3) D(7,1)

A(0,0) B(1,4) 0+1 =0. % =2
B(1,4) C(5,3) E:3 is:B.S
2 2
ce3) Dy g 3,
2 2
D(7,1) A(0,0) 7—;0=3.5 %zo.s S=(3.5,0.5)
3 1.5 -05 15
335 R(6,2) m=—=—"—"=-0.5  P(0.5,2) S(3.5,0.5) m= =—=-05
Q(3.35)R(6,2) 3 (0.5.2)8(35,0.8) M=——===2
Same gradients so these are parallel.
P(0.5,2) Q(3,3,5) m= 2-35_-15_44 S(3.5,0.5) R(6,2) m = 05-2_-15_44
05-3 -25 35-6 -25
Same gradients so these are parallel.
2 lots of parallel lines so the quadrilateral is a parallelogram
Part (b)
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These have the same gradients so are parallel.
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b f b+d d+f

Mg = 2 2 _b-f Mor = 2 2 _b+d-d-f b-f
a_¢e a-e a+c c+e a+c-c-e a-e
2 2 2 2

These have the same gradients so are parallel.

So this is a parallelogram again.
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